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Question One (30 Marks)
a)
Discuss the conceptual framework of Accounting.



(10 Marks)

b)
Differentiate between cash and accrual method of accounting.

(4 Marks)

c)
Explain three purposes of conceptual framework of accounting.

(6 Marks)

d)
Eddy holdings conducted the following transactions in the month of January 2013.

1)
Sold goods worth Kshs. 200,000.  The buyer made a cash payment of Kshs. 150,000 and promised to clear the balance after three months.  But on 31/01/2013, the buyer made a cash payment of Kshs. 25,000.

2)
Purchased goods worth Kshs. 80,000 on 2/01/2013.  On 3rd January 2013, a cash payment of Kshs. 50,000 was made.  The remaining amount was still outstanding at the end of the month.  The buyer charged a 2% interest on the outstanding amount at the end of the month.

3)
On 5/01/2013, the company paid Kshs. 45,000 for purchases worth Kshs. 60,000.

4)
On 7/01/2013, the company received Kshs. 100,000 from a customer on account.  The customer, still had a remaining balance of Kshs. 10,000.  The management decided to write off the debt.

5)
On 22/01/2013, the company received Kshs. 100,000 for goods worth Kshs. 150,000, from a customer.

6)
Salary for the month amounted to Kshs. 20,000 statutory deduction amounting to Kshs. 6,000 were paid on 5/02/2013.

7)
The following expenses were paid during the month Rent Kshs. 10,000, water Kshs. 2,000, Electricity Kshs. 4,000.

8)
Purchased goods worth Kshs. 100,000.  On 16/01/2013, the company paid 20% and the remaining amount was paid after three months.
9)
Entered into a lease agreement worth Kshs. 60,000 for 5 months.  Monthly rental payments were paid on a monthly basis.

10)
Paid Kshs. 60,000 for goods purchased on November 2012.  He also received Kshs. 160,000 for sales made on November 2012.

11)
He made a tax pre-payment of Kshs. 20,000.

Required:

(i)
Compute the net income for the month using the cash method of Accounting.










(5 Marks)

(ii)
Compute the net income for the month using accrual method of accounting.










(5 Marks)

Question Two (20 Marks)
a)
Use the following information to calculate the value of ending inventory and the cost of goods sold during the month of March, using LIFO perpetual and LIFO periodic: 











(10 Marks)


March 1 beginning inventory 60 units @ Kshs. 15.00


5 March purchase 140 units @ Kshs. 15.50


14 March sales 190 units @Kshs. 19.00


27 March purchases 70 units @ Kshs. 16.00


29 March sales 30 units @ Kshs. 19.50

b)
Determine the cost of unit used and the value of closing stock using FIFO and LIFO.  The below purchases were made during the month:





	Date of Purchase
	Unit Purchased
	Price/Unit

	1st January
	500
	100

	2nd January
	600
	200

	3rd January
	800
	400


 
Unit used on 4th January was 900. 





(10 Marks)

Question Three (20 Marks)
PAT IDEAL entered into a lease agreement with M Ltd.  The lease was for a vehicle.  The price of the vehicle is Kshs. 10,000.  Lease payment is 5 installments of Kshs. 2,571.  The lease term is five years and the useful life of the asset is 5 years.  the company uses straight line method of depreciation.  The company is not obliged to return the asset at the end of the lease.  The rate of interest is 9%.

Required:

a)
Determine the type of lease using the four (4) assumptions used to determine the type of the lease.








(5 Marks)

b)
Prepare the accounts in the books of the lessee.



(15 Marks)

Show all your working and the lease amortization table.

Question Four (20 Marks)
a)
Explain the benefit of debtor factoring to a business.



(4 Marks)

b)
Chrisben ship goods worth Kshs. 1,000 and the customer returns Kshs. 100 of unacceptable goods to ChrisBen within a few days.  ChrisBen credit and discount term to the customer is 2/10, net 30.  ChrisBen cost of good is 80% of the original selling price (before discount).  The above transactions occurred on 1st June 2013.  On 6th June 2013, the customer makes the payment.  Journalize the above transactions.
(5 Marks)

c)
Sameer Africa sold its receivable to a financing company worth Kshs. 100,000.  The finance company charges a factoring fee of 2% on the value of the receivable sold and another 8% as interest expense.  The financing company could not recover Kshs. 2,000 and decided to write off the debt.  Journalize the above transactions.
(4 Marks)

d)
In detail, explain debtor factoring and invoice discounting.


(4 Marks)

e)
Define long term and short term investments and provide examples in each case.











(3 Marks)

Question Five (20 Marks)

The following transactions are in regards to Pat Ideal Holding Company:

a)
Purchased a plant costing Kshs. 110 million on April 2010.  The salvage value was estimated to be Kshs. 10 million.  The expected production was 150 million units.  The plant produced 15 million units till the year end December 31, 2010.  Calculate the depreciation on the plant for the year ended December 31, 2010.

(2 Marks)
b)
During the year the company acquired Gaks holding for Kshs. 10 million.  The fair value of Gaks holding assets is Kshs. 10 million and liabilities are at Kshs. 2 million.  Calculate goodwill in acquiring Gaks holding.





(2 Marks)

c)
The company had acquired a land and decided to conduct a revaluation exercise.  The fair value of the building is Kshs. 190,000 as at December 31, 2010.  The carrying amounts of the building to date is Kshs. 170,000.  Calculate the revaluation surplus/loss.











(2 Marks)

d)
On January 1 2010, the company purchased a motor vehicle worth Kshs. 2 million.  The salvage value will be Kshs. 200,000 at the end of its useful life of 5 years. The company succeeded in selling the motor vehicle for Kshs. 500,000.  The company uses straight line method of depreciation.  Calculate the loss/gain in disposal of the motor vehicle.











(2 Marks)

e)
Journalize the below transactions:


(i)
Received goodwill on purchase of premises amounting to Kshs. 20,000.











(1 Mark)

(ii)
Incurred an assets impairment loss of Kshs. 10,000.
  

(1 Mark)

(iii)
Incurred a revaluation loss of Kshs. 50,000.



(1 Mark)


(iv)
Disposed on asset an realized Kshs. 60,000.



(1 Mark)

f)
Based on the below information calculate good will:



(4 Marks)

	
	Book value
	Fair value

	Stock
	20,000
	35,000

	Plants, property and land
	2,500,000
	5,000,000

	Debtors
	60,000
	100,000

	Liabilities
	45,000
	600,000



The assets and liabilities were revalued as follows pending the sale of the business:
	Stock
	65,000

	Plant, property and land
	6,500,000

	Debtor
	120,000

	Liability
	75,000


g)
Differentiate between non-current and current assets, intangible assets and give two (2) examples in each case.






(4 Marks)
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